Average Jet Charge (kappa = 0.7) [e]
o o O o =
N N o o) = N

o

[EEY

Ratio to ATLAS

0.5

8000 GeV pp Jets
[T I T I T I T I | I I I I | I I I T I T _I_ ﬂ
c
- 1o
B Jet Charge Mean(k=0.7, forward, jj| < 2.1) 1%
— —
_ m ATLAS IS
| --3-- Herwig 7.0.2 default n
— —4— Pythia 8.308 default 2
L ¢ Sherpa 2.2.9 default —5
— %
=
B e
B o’
I — 1™
- 1<
L - ™
- - - 8
—
B 1=
- X
C s
- —
L “~E] ] ;’
- 1@
. — O
- -1 0
- -2
| — O
I _ 1O
— | | | | | ] | | | | | | ' | |_ E
- 1 [ 1 | 1 1 [ 1 1 |:
= 32
- | Y ]
o P 4 ]
B ﬁ ' (0 /A\ | ] 1
| —0.5
| L T B L
0 500 1000 1500

Jet P, [GeV]



	Contents
	Page 1


